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Q1. Choose the correct answer. 1X10=10 Lo na faliz b Je.1 Ay
1. The equation of a straight line in the slope-intercept form is written as: ZLSLFU"'UC Ui (“/ B
ax+by+c=0 (D) y=c+mx (C) y-y1=m(x-x4) (B) y=m(x+c) (A)
2. The gradients of two parallel lines are: Ll b i 2
Always undefined & s (D) F ol L e (C) Zero #* (B) Equal 212 (A)
Negative reciprocals of each other
3. If the product of the gradients of two lines is -1, then the lines are: Bl nb P inl-o Al S 3
Coincident <% _(1 (D) Collinear ¢4 (C) Perpendicular $:»* (B) Parallel &1 (A)
4. Distance between two points P(1,2) and Q(4,6) is: :,f_rﬂyﬁuy;;50(4,6) #P(1,2)46 .4
4 (D) V13 (©) 6 (B) 5 (A)
5. The midpoint of a line segment with endpoints (-2,4) and (6,-2) is: ‘= [a J;;;j” 1§(2-,6) 41(2,4-) s ~ L3k 5
(0,0) (D) (1.1) (C) (21) (B) (4.2) (A)
6. Aline passing through points (1,2) and (4,5) is: e s = J5(4,5)4(1,2)56 .6
y=x+2 (D) y=3x-2 (C) y=2x+3 (B) y=x+1 (A)
7. The equation of a line in point-slope form is: e el o T
ax+by+c=0 (D) y=c+mx (C) y-y1=m(x-xq) (B) y=m(x+c) (A)
8. 2x+3y-6=0 in the slope-intercept form is: ;,-_LF g’g.d. W ;L{ 2x+3y-6=0 .8
—2 2 2 -2
=—<x-2 =Zx+1(C =Zx-2 (B =—Zx+2 (A
y—= (D) 3 (C) 3 (B) == (A)
9. The equation of a line in symmetric form is: e e $BAFS 9
y—y1=m(x—x1) (D) ax+by+c=0 (C) (B) £+£=1 (A)
1 m 1
10. The equation of a line in normal form is: o dsbald, hiu’fd'ér'h 10
xcosa+ysina=p (D X—=ix - X =mx+c (A
cosa + ys p (D) 1=y Y4 (C) E+§=1(B) y (A)
cosa sina
Q2. Write short answers of the following questions. 2X10=20 S22z Ly 500002 Ay

| . Describe the location in the plane of the point P (x, ), for which: x > 0

and y >0

II'. Describe the location in the plane of the point P(x, ), for which: y =0

y>0ux> 0:d L2 et et L P(x,y) 46 . |

y=0:“&E.J?:L,,_r_’f:..::u:uf(LE»JLEPZ.P(x,y))E? |
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lll . Describe the location in the plane of the point P(x, ), for which:
y=0,x=0
IV . Is the following point is at a distance of 15 units from the origin?

(v/176, 7)
V . Find an equation of : the horizontal line through: (7, —9)

VI . Find an equation of : through (8, — 3) having slope 0.

VIl . Show that the points A (— 3, 6), B(3,2) and C(6,0) are colinear.

VIl . Transform the equation 5x — 12 y + 39 =0 into: slope intercept
form.

IX . On a map town A is at coordinates (2,3) and Town B is at (-4,-1), what is
the distance between the two towns?

X . An airplane needs to fly from city A to coordinates (12, 5) to city B at
coordinates (8, -4). Calculate the straight-line distance between these two
cities.

Q3. Write detailed answers of the following questions.

1. In the following check whether the two lines are: (i) parallel (ii) perpendicular
(iii) neither parallel nor perpendicular 3y =2x+5; 3x+2y—8=0

2. An architect is designing a park with two building located at (10, 8) and
(4, 3) on the grid. Calculate the straight-line distance between the
buildings. Assume the coordinates are in meters.

y=0, x=0L LSSl reuts ZP(x,y) 46 . I

(q/ 176 7 )?f_.;.“liiufb’lwc.lg,hﬁgpg- \'

@i Se L(T, =9) /e
03P =(8, —3):u/ri il . V

-1 C(6,0)A(—3,6), B(3,2)s6 /=t . VI
Frsursy/de fFditsBx — 12y +39=0 . VI

Loboen Zeibudn-g(1-4-) i LBuits(2,3)ebs LAt 122 | IX

_L,f.';rf'll’"
&JJ/;LJ(»‘;_-IG'!J;J(’#",B)&IL&’ {*Bf :.(5, 1 2).;!;.&' .;Af:f;gﬂu:,g’l X
iU:),l’JL’”.LJEUHVJJE.UJf nell-c

5X2=10 </ 1 ,ﬂ. e e f.:.:wﬂlj,.?;#j / Jir
$F Ll St (&) o (<) S () 2l TS S e 5t
3x+2y—8=0:3y=2x+5-u
44, 3)#(10, 8)=hs Luidtn i el Ays S LAz i 2
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